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You have four choices for each objective type question as A, B, Cand D. ¥ sbod 2o/ iyt oo §i S /el S il

1 /le

The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker e
or pen to fil! the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B | A QUESTIONS /.t Sr.No.
A quadratic equation has a 1
3 0 1 2 degree:
_q_l‘,‘ngjh..;',l:b»'&/)u
{-2,-3} {2, 3} {2} {3} Solution of x* =5x+6=0 is: 2
ceerf¥x? =5x+6=0
Square matrix Transpose Skew symmetric Symmetric If A" =—A then A4 is called: 3
N, s S g S et Aind =—A ]
The order 3x3 | The order 2x2 The Different The same order | Two matrices are confirmable 4
£3x3.2, 22 1 order 20 for addition if they are of ____.
o Ll /Jf; ..2u.w’u/élu,,“’ LMU})}’é.{ZU”;,)Gu
360° 270° 180° 90° A straight angle contains: 5
_ —g-bst.2198] (?/ i
Non-concurrent | Perpendicular Collinear Concurrent The angle bisectors of a 6
L # bt AT BA Friiigi | tiangle are:
Aot Ly L el
A line joining one vertex of a 7
triangle to the mid point of its
Side bisector Median opposite sides is called:
et s B L e gL
e bl I
" Area of a square with side ‘S’ is 8
s? 28 2
-c‘:_b‘:z,,'!';l(n ‘S’ ézfu)-(}/ul
A point in a Cartesian plane 9
Ordinate Numbers determines a unique ordered pair
371 sl of:
Ve sner s 2 L BLLGF5E K
,‘4}/ u.‘.;
(a-b)* a-p a® -3ab(a-b)—b* =2 10
! 11
1 2 Ja =a? is surd of order -
1
2 -4"_,?1)5/\/; =a5 '/l/lﬁ'
A linear polynomial is of 12
3 2 degree:
- bron KL? p ff{ Gl
4p’q 4pq* 4p*q’ 4pq H.CFof 12pg, 8p*q is: 13
-c‘_(‘”uw 12pq, 8p°q
24p°q? 12p’q 24p’q 24 pq® LCMof 12p%q*, 8p* is: 4
< frobene 12p°q?, 8p?
Any value of the variable which 15
. makes the equation a true
Constant Solution Inequality Equation statement is called the
Jw J’ cal;l/ﬁé sl JJJ;('Q/:/.E' [Cvy] /.:I:V u"z ;»E 7]
‘ V =5
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NOTE: Write same question number and its parts number on answer hook, as given in the question paper.

Tk gy L2l A ra A4y a s

SECTION-1 Ji.»o
2, Attempt any six parts. i 12=2x6 & .".p!.aQZLia—Jf l 2/
i )2 Syt - = S 6 (l)
OV i p1)=2=55+6 then find P(1) e PO) i p (=222
x’ +8 x +8
(ii) | Write-the names of two types of rational expression. L o @iD)
(iii) | Separate the rational and irrational numbers. e A P (i)
32 N 8 =
Ty 27 i /gy J7 32 8
471 7'\ ?4_5—1“:‘/5:7a"/5—:ﬁ
(iv) | Define cubic polynomial. oy PES S ondk @iv)
(V) | Factorize x*+y-xp~—x X +y—xy—x-ZoF W)
(vi) | If P(x)=2x"-5x*+7x~7,then find P(2) Ju Px) =2 —5x* +7x~7.J1 | (VD
- P(2)
(vii) | Define H.C.F (Highest Common Factor). i S (vii)
(Vi) | Find L.C.M by factorization. x> yz, xy’z, xyz’ ~§(F€5}24/}1J’Jw"5 el
x*yz, xy’z, xyz’
(ix) | Write the relation between H.C.F and L.C.M. AP opnl Lem o Her | (%)
3. Attempt any six parts. 12=2x6 EiF Lz {b‘j_f I 34Ul
() Define linear equation with example. e A it (1)
(i) 4x 3x 4x 3x (i)
Solve ———=4 Bl N 0 4
2. . 9 5 4
(iii) | Solve ]x -3 ‘: 4 ]x — 3]= 4. .Z) (iid)
(iv) | Define quadratic equation with example. - s s Sy /7J ST 9ITY) (iv)
(V) ISolve (x-3)* =4 (x=3P%=4.£f| O
() | Solve by factorization x? —4x—12=0 X —Ax—12=0.gLF s | VD
(vii) | Define matrix. [ _E S (vii)
Pl . 3 1 ] ]2 1 viii
O | pont et wn) g2 i | 2 J e [0 » 4|
@3 2] -3 3y-4 -3 2
ey
(ix) 4 2 5 [ 4 2 (ix)
Find A™ if A= e AT I A= A
5 4 L5 4
4. Attempt any six parts. 12=2x6 i feyrlingedd ' 440
(i) | Define parallel lines. NP AT TS @
(it) | Define diameter of a circle. _é__ﬁ,}d’/ﬁgé_;;, (ii)
(iii) | Find the value of x inthe $x ufwcfd} (iit)
given triangle. 4 40° 2+ 40° e
x+25° x— 20 x+25° x— 20
(iv) | Define orthocenter of a triangle. Ey e s nlat | (V)
(v) | Draw a circle of rgdius 2cm- with center 0. Draw a chord a/::/gjf/(',,/"n,{!-z._;.t:/,’ 05 o sts Ko 2 552 )
and shade the portion showing major arc.
-Zr.tuba.v(//”b/
(vi) | Draw an equilateral triangle with length of each side 4cm. R JPJébﬁlu)'%—&wawd’v (vi)
(vii) Fix?d the area of a triangle whose base = 8cm, (8= qu)'éz/p"’J/Kw (vii)
altitude = 15cm. ﬁ,
HELS =L
(viii) | Find the volume of the cube whose edge is 8m. 8 ui{ﬁﬁﬁé”r’i”r&v’fvﬁ (viii)
(ix) | Define collinear points. Sy FAT A (ix)

P.T.O
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SECTION-II (.

NOTE: ; Attempt any three qucstions. ‘ 24=8x3 _554;&&,54:@0',‘:[‘_5{
G ' ) 2
5(A) fyp L =10 +3 then evaluate [I’ _l)z ~~£(’L"~“"—’J(P—l) inl o433
P P rp) P
(B) | Factorize m® —n° m® —n® - ZSf | (D
6.(A) | Find H.C.¥ by division method. ~5§("”‘rﬁi“‘”—~7"/’£(? (IN-6
3_ 2 4 5.3 _ - i
X -xt-x+1, x*-2x" +2x-1 Fen? extl, gt=2x" 424
®) | Sotve Lx>1++x st dr | &
2 3 2 3
7.(A) | Solve by completing square method. -Z{J’c;.w)’éé/g}f” -7
5x —20x-28=0 -
5x* —20x-28=0
®B) g ih . . 3. -4) | @
If B= then find B~ and also find B™'B § B AinB= ST
-3 -2 -3 -2
-"ér)"’(f B_IB uluj//r)”u'}é’df}
8.(A) | Use Cramer’s rule to solve the simultancous equations. g SIS A P AR )Y
x-3y=5, 2x-5y=9 : ) )
x-3y=5, 2x-5y=9
(B) | Construct a rectangle with sides 10cm and 6cm. RS0 ST LU cudE | (O
-un}-fg?G
9.(A) | Find the area of triangle whose sides are 5, 12 and 13. 56U 13012 St St £ o2 el (J,)_g_
e
(B) | Show that the points 4(3,1), B(=2,—-3)and C(2,2) o B(=2, =3) AG, 1) St | ()
are vertices of an isosceles triangle. -‘J,?J'nﬁbif‘ugwdﬂj'uf' Cc(2,2)

34-2024(15-A)-10000  (MULTAN)
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u;fbu}j:..,{:‘-é:)/!:—cﬁ-l:)] Son i b A:?Ij.'u»cduu’béz’,r: é:,béidlf/;4té((}l2 ~w£:2_',.)D /)ICxB‘A:aLlf,ulegﬁdlr/r 1 ﬁ}d"
You have four choices for each objective type question as A, B, Cand D. ¥snsdsbiznfifesm §L S/ 28L 178 QNo.1
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker o
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A QUESTIONS /=iy Sr.No.
a’ ~b a’+b’ (a-b)’ (a+b)’ a® +3ab(a+b)+b* =2 1 )
% 2 1
1 Ja =a? is a surd of order: Y
1 5 2 0 -
2 _4‘;_.?»%/; =q? ’/Mﬁf
(x=2) (x+4) | (x-2)(x+2) | (x=4) (x+4) | (x=2) (x+2)| Factorization of x* —16 is: 3
(=" +4) e Ufdx ~16
IfP(x)=x" +3x* - 3x+1 4
5 e =97
2% 18 132 4y then find P(—2) =7
: P(x)=x3+3x2—3x+1fl
L P(-2)7
Number of methods to find 5
2 3 1 0 L.C.M are:
—ealid Sus )&‘.f(}*qﬁ 13lavtss
HCF+LCM | HCF x LCM LCM HCF Product of two expressions = ? 6
e +f1abans | Aie xS Frosuons ,'f‘ bhle § =0 AL LEURG Al
(8, -2} 8, -2} (8.2) {5; 2) Solutionsetoflx—-3|=5 is: 7
> > £ mﬂ"g}" -+%Jle_3|=5
‘ Number of techniques to solve a 8
4 2 3 I quadratic equation are:
-u,!%)’[.é_/d’f@bl/@u»
3
Solution set of x> =9 =10 9
{3} {3} e ¥ X2 -9=0
In a square matrix the number of 10
Different Same 3x2 2x3 rows and columns are:
il yre _4"_(3:151,070/ U’) Kl U8 e A &, &
O o 1 1 In matrices (4B)™ =? 11
ard Ak B 4 (AB)™ =2 L Ludk
An arc greater then semi-circle is 12
Diameter Major arc Chord Minor arc called:
/‘3" U{J; 7 aﬁ.“d] _c“._(jllgfu’idka.u/'b..iﬂ]
4 Non-concurrent Collinear Concurrent | The medians of triangle are: 13
Sif 4 BA ey i Ll sl L2l
2z r Ty rl rl Area of semi-circle is: 14
2 R TR
The co-ordinates of the origin 15
(0, 1) (1, 0) (0, 0) 0 are: bt Lot

36(0bj)(¥¥)-2024(1%-A)-4000 (MULTAN)
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NOTE: Write same question number and its parts number on answer book, as given in the question paper,  -¢-bnlg¢dr SR A 2n Al Sagd¥iz s
SECTION-I Jit.o
2. Attempt any six parts. : I 12=2 x6 -é—‘-’/.f@&‘ﬁé‘z’é‘-‘j/l 25y
@ | 1f P(x)=x* +3x> ~5x+9 then find P(x) for x=0 x=0inP(x)=x*+3x*-5x+9 Ji| O
~EeedfP(x) L L
(i) | Solve tising formulas. (x-y) +64 (x=y)Y +64 - ZE L csiltrs (i)
(iii) | Detine rational numbers with example. -Q)J(?..QAM/.@/JJ;MJ”U (iti)
(V) | Factorize a* +a-3a* -3 a* +a-3a*-3.gys | W
(V) | Factorize x* +5x—6 P +5x-6.gus | M)
(Vi) | Factorize @b’ +512 a’b? +512.405 (vi)
(Vi) | Find H.C.F by factorization 12pq?, 8piqr®, 4p*q’r Lo s | VD
12p°¢*, 8p’qr’, 4p’q’r
(Vi) | Find L.C.M by factorization. x’yz, xp’z, xyz’ I xiyz, xy'z, xyz-gedrFioisngd s | (Vil)
(ix) | Define Highest Common Factor(H.C.F) _E A ‘,ﬁ’, e (%)
3. Attempt auy six parts. , 12=2x6 -é—‘ff"l"ﬁé'z‘i‘—‘;fl’ 340
(iy | Define inequality. Ew e | D
(@) | Solve | x+1|=5 |x+1[=5 £V (i)
(iii) | Solve the inequality x—7 < 5—2x T HES =T <5 2x 2l (iii)
(iv) | Define quadratic equation and give an example. W gy i | (V)
(V) | Solve 6x* =19x~7=0 by using factorization. v CESSF ) 6xF =19x-T=0 W)
(VD) | Solve 5x = x* +6 by factorization method. ESE NS Sx=x"+6 )
) If 4 =[ & b ] then what is the additive inverse of 4. : '.'”é( o e 7K A I A=[ a b —] A )
c d @ : c d J
Gin | T 3 4 2 < T 4 2] 1 3] | i)
If A= and B= thenfind A+ B s  B= s A= i
TS I E
] - A+ Bj
® 1 g 4] 6 2] then evaluate det.d s @A det 4 JnA:[G 2} Al
l_4 2 i 4 2
4. Attempt any six paris. ' ‘ ~Eif ezl ‘e‘_‘j_{ l 4y
(i) | Define circle. o |
(ii) | What is the radius of a circle? St Lt (ii)
(iii) | Define sector of a circle. Draw a diagram. zk Pk A6, /g__i Loy | (i)
(iv) | What is the centroid of a triangle? Sl et Sl ks | (V)
(v) | Construct a square whose one side is 3.5 cm. S35 é*ﬂ(u'?é_g-ﬂg/_,g )
(vi) | Find the third side of each right triangle with legs 'a' and Ba'a' By r,iafd“’; el I F (vi)
'b" and hypotenuse 'c'. a =5, b=4, c=? a=5 b=4 c= ?nircatun
(vii) Fil:ld lhe_area of triangle whose base is 8cm and AR E S é"(f’w J Kl (vii)
altitude is 15cm. :
15 L
(viii) | Write formula to find the volume of cone. -q//ju;uss/i,/,'k*ﬁn;}' (viii)
(ix) | Describe the location of these points on the number plane. E IS (ix)
(-2, 4) (=2, 4)
P.T.O
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1
i fenz Loyl edd \ )

NOTE: { Attempt any three questions. 24=8x3
5.(A) +1 x+2 x+1 x+2 I
Soive —; : - . 5 - SIS GHiE
xt=3x+2 x"—4x+3 x?=3x+2 x*-4x+3
() | Factorize 4+/3x* +5x-23 435 +5x-243 G| (@
6.(A) | Find the square root by division method. e ¥ x4y 4 2% +2xp+2yz+2xz | ()6
2yt 10y = 2 ) T
Pyt +2xp+2yz+2x é{r’wﬁ_ﬂ&%
(B) | Solve 3(x+5)>2(x+2)+8 3(x+5)>2(x+2D+8-ES | )
7.(A) 4 2 = r 4 2 J 7
If A= then find A4™' e A4 In A= e b
5 4 5 4
(B) | Solve by using quadratic formula. x?-5x+6=0 ¥ =5x+6=0_ZELVvralunai | ()
|
!
8.{A) | Solve using matrix inversion method. WA, Y s | (-8
3x-y=10, 2x+3y=3 ) ) '
= BT Jx— =10y 2x+3y =3
(B) | Construct a rectangle whose adjacent sides are 4cm and 3em. | e S ueiiSt e o L2 el D
_urz/'{d‘kB
9.(A) | Find the volume of a cube whose total area is 96cm’” . K& 9% ,;JLJ%’J WAy b A AL | (-9
-
(B) | Show that the points A(~131), B(3,2)and C (7,3) are | » B(3,2) -A(-L1) s& S k| (L)
collinear. -uﬁwjb‘ﬁ[— C(7,3)
36-2024(1-A)-4000 (MULTAN)




